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LOTUS Challenge (OP=0pen, R=Racing, N=Normal)
Xig:Bh a—X:F54
Pos.[ PIC |No. Driver Type [Laps|Total Time] DELAY [ GAP [Best Tm CAR Shop/Team
1 [OP-1 21[FEF Z GH1117 10] 09:43.855[AV=96.25km /h 57.496 [wiR v1v 54—tz —o AL A —k
2 |oP-2 PRI RET:: ] GH1117 10 10:03.845] 19.99| 19.99] 59.950|F><{AK-oneTHF>— [K-one
3 |R-1 26|5888 A% GH1117 10| 10:16.991| 33.136| 13.146] 1:00.428|&&E77rLsCTFo—S [K—one
4 |OP-3 22(#EF AR GH1117 10| 10:35.743| 51.888| 18.752| 1:01.616|TF>— K—one
5 |OP-4 25|F% T BIiE 1117 10| 10:36.139| 52.284| 0.396] 1:01.953|wTRy1v5A—rEUL—2 (D45 A —F
6 |N-1 28|k AKR JtZ GH1117 10| 10:36.564| 52.709| 0.425| 1:02.147|T24hTHL—2+1  [K-one
7 [oP-5 20(aFEF M GH-1117] 10| 10:37.568| 53.713| 1.004| 1:02.539(Tz % —>s TKRYIF
8 [N-2 2125 8% 111 9| 09:47.003(1 FE[] |1 EE] | 1:03.679|WTR ALt BEEr:m|Y( 54—k
Lk, EE
[DNFIR | 24|ER/)I _IE | [ 4] 04:31.360]- |- | 1:00.380] [K-one

BMW Challenge (B/OP=0pen, B/R=Racing, B/N=Normal)

/ E2000 Challenge (E/T=Turbo, E/R=Racing, E/N=Normal)

RE:BHh a—X: K54
CAR

Pos.| PIC |[No. Driver Type [Laps|Total Time] DELAY [ GAP [Best Tm Shop/Team
1[B/OP-1] 6[/MNL FIE E92 M3 10] 09:47.541]AV=95.646km/h | 57.664|TKAZITF7 M3 TKROLT
2[B/oP-2] 8|F=1F39 E92 M3 10{ 09:51.872] 4.331] 4.331 58.35|TK Racing M3 TKRHIF
3lB/orP-3| 4|EEH Xk E36 10{ 10:16.924] 29.383] 25.052| 1:00.610]K-one Racing BMW |K-one
4|E/R-1 15|%H EBX S28 10{ 10:22.709] 35.168] 5.785| 1:01.523|DXL1JE 106 Team302
5|E/T-1 10|48 EE R53 10{ 10:27.157] 39.616] 4.448] 1:02.167|NSF-MCS with TK |TKRHZI 7
6|[E/R-2 | 11|EFE B SSNFS 10{ 10:37.222] 49.681] 10.065] 1:02.819]/\Aisy=vsi o454y | HL—8HM
7|B/0P-4| 2|V t-LRYina7ve-4 |BE19 10{ 10:44.128] 56.587] 6.906| 1:03.417|5)L—71 X% L51318sC|ASP
8|E/R-3 | 14|#iK T4 Y 27 1300Jr 9] 10:10.638]1 EIE |1 FEE | 1:06.584|AAIEN 1171969 [K-one
9|E/R-4 | 12|#& E&E#t S10 9] 10:11.458 0.82] 0.82] 1:06.767[106Xsi 4222 TA(E
10[E/R-5 | 13|86 K BHE S16 9] 10:30.357] 19.719] 18.899] 1:08.487|Car Dog106 H—Rwo8s K
11({B/N-1 NEESEH ) BE18 9] 10:32.566] 21.928] 2.209] 1:08.380|FaFS K (TEE36 [mxmsL—os557
12|B/N-2 ET=GES BE19 9] 10:53.288] 42.65] 20.722] 1:10.955[318ti? LA+HAT? SPL |ASP
13|B/0P-5| 3|HHE EH VB25 8] 09:47579]|2 Laps |1 A | 1:11.650[%=L<LT4a¥325 |ASP
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